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Three steps to climate neutrality: Step 1 – Reduce emissions by 65% by 2030 
(GHG emissions in Mt CO₂eq) Figure 3
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Energy sector
Phase out coal by 2030, 
with around 70% of elec-
tricity generation from 
renewables, decarbonise 
district heating, use H₂

Waste
Expand 
landfill ventilation

Industry
Introduce DRI, eliminate coal, 
use H2 for steam

14 million electric cars, 
30% of road freight 
kilometres electric, more 
public transport, cycling, 
walking and rail

Make green retrofit rate 1.6% 
per year, 6 million heat 
pumps, greater expansion of 
district heating

Reduce manure, reduce livestock, 
ferment agricultural waste
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